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A: Fill in the blanks with the words given. There is one extra word. (4 points)

store — Jocate — Juckily — regularly — source — facial — distracting — stretch — segiously

| SR , Bob didn’t break any of his bones. .

2. The brain stores the information that is the ......... of human thoughts and feelings.
3. Could you stop talking please? You are ......... me from my work.

4. My cousin has a strong ......... likeness to his father.

5. Two people died in the automobile accident and three others were ......... injured.
6. Many peopleliketo ......... some food in case of an emergency.

7. My teacher told me to brush my teeth and see my dentist .......... .

8. The Central Mountains ......... for hundreds of kilometers from north to south.

B: Match the definitions in column (A) with the words in column (B). There is one extra word
in column (B). (1.5 points)

COLUMN A . COLUMNB

9. white or yellow material under the skin a. shake

10. full of people b. probable

11:in a strong way . c. fat

12. move sth up and down and from side to side d. emphasize

13. give special importance to sth e. populated

14. when all the animals and plants of a particular type die f. extinction
g. firmly

C: Choose the correct answer. (1.5 pcints)
15. T always thought the worst of myself and hadno ......... .

a) confidence b) involvement c) definition d) procedure
16. The most common ......... of air accidents is pilot error - not mechanical failure.
a) cause b) area c) effect d) event

17. Smoking ......... your chances of getting cancer.

a) taps b) produces ¢) increases d) releases

D: Choose a pair of words having a similar retatonsn:p zs the pairs in each item. (2 points)
18. coal: fuel

a) bicycle: bus b) electricity: energy ¢} climate: change -d) crust: mantle

19. metal: hard

a) ocean: deep b) bone: soft ¢) fire: cold a) rock: flexible
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E: Choose the correct answer. (4 points)

20. Ahmad is ......... to carry this heavy box. .

a) such strong b) strong enough ¢) so strong d) too strong
21. The teacher did not letus ......... our dictionaries during the test.

a) to use b) used c) use d) using

22. Thecars......... in this factory have powerful eiguica. 4

a) producing b) which produce c)produced d) are produced
23.Itwas......... interesting movie that we decided to watch it again. '

a)sucha b) very c)so . d) such an

24, You should work and study ......... you stay here or go to Shiraz.

a) since Ab) when c)as .d) whether

25. Students ......... hard are more successful in their exams.

a) studying b) studied c) who studies ~ d) are studying
26. We looked into the shops ......... we walked along the street.

a) whether b) since c) because d)as

27. We have ......... time to get there on time. Don’t worry.

a) too much b) enough c) so d) very

'F: Put the words in the correct order. (2 points)
28. is, so, can’t, that, your, drink, hot, child, milk, it, the.
29. there, take, is, enough, light, not, pictures, us, to, for

G: Write the correct forms of the verbs in parentheses. (2 points)

30. Our teacher made us ......... our writing activities in class. (finish)
31. People can make good speakersby......... hard. (practice)

32. Did you allow him ......... his homework in your room? (do)

33. I helped my sister ......... her math problems. (solve)

H: Match the items in column (A) with the appropriate phrases in column (B) to make
meaningful sentences. There is one extra item in column (B). (4 points)

COLUMN A COLUMNB
34. Climateis ......... a) able to bend without breaking.
35. Computer is useful forus ......... b) as it produces no pollution.
36. If you want to involve your audience, ......... c) ask them questions.
37. Before an‘earthquake, ......... d) the general weather of a place.
38. The price must be mers ~salin®s, ..., . e} ic. lower,
39. Children bend and stretch their bodies easily ......... f) because it does the jobs very fast.
40. “Flexible” is defined as ........, ' g) the amount of money you pay.
41. Wind is a clean fuel ......... h) plan family emergency procedures.

i) since they are flexible.
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I: Read the following seniences and choose the correct choice. (4 points)
42. Exercise burns up extra calories which come from the food you eat and keeps you at a weight that
is suitable for your height. This sentence means that ......... .
a) if we exercise, we can store calories
b) we should always try to burn calories
¢) extra calories keep us at a healthy weight
d) we can become physically fit if we exercise

43. The plates of the crust of the Earth move along smoothly but sometimes they stick together and
create pressure. The pressure increases and the rock bends until it breaks.

These sentences show ......... .
a) how the pressure increases b) what the layers of the Earth are

¢) how an earthquake happens d) what kinds of rocks are in the crust

44, Before you arrive to give your presentation, ask others for their opinion on your clothing and how
suitable it is for the occasion. We understand from this sentence that for our presentation, ......... .

a) good choice of clothes is suggested

b) everyone should wear fine clothes

¢) a suitable occasion should be chosen

d) others should comment on the price of our clothes

45. Just as the weather organizations now forecast floods and strong storms, the national earthquake
information centers may one day predict earthquakes. According to this sentence, ......... .

a) weather organizations can predict earthquakes

b) earthquake prediction is a future possibility

¢) earthquakes are predicted nowadays by some organizations

d) national earthquake information centers can predict floods and storms

J: Fill in the blanks with the words from the list below. There is one extra word. (5 points)

or — functions ~ by — stores — able — fuel — right — such as — lifts — strong — nutrients

Every time you eat food, your body does the same thing: it uses some of the ...46... in the food as
fuel. It burns them to give us energy or calories. You need calories for all of your body’s ...47...,
whether it is things you think about doing, ...48... brushing your teeth, ...49... things you never
think about doing, like breathing. But if the body is not ...50... to use all the calories that are coming
from food, it ...51... them as fat. Exercise helps keep you at a weight that is ...52... for your height,
...53... burning up extra calories. When you exercise, your body uses that extra ...54... to keep you
...55...
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K: Read the following passage carefully and then answer the questions as required. (5 points)

In 1998 the Rover Company’s Land Rdver, one of the most famous cars in the world, celebrated
its 50® birthday. But not many people know that its success was a surprise to the company. The idea
was born when the Wilks brothers, who lived on the Welsh island.of Anglesey, wanted a cheap but
strong cdr to travel around their farm. They copied the design of the American ‘Willy’s Jeep.’ At that
time the Rover car company had problems. In Britain after the war, people did not have enough'
money to buy Rover’s luxury cars, so the company decided to use the Wilks brothers’ idea to make a
little money for a few years.

Cars are usually made of steel but this was very costly then, so Rover used aluminium, which was
cheaper. There was a lot of aluminium because war planes were made of it. The design was very
basic and uncomfortable, but strong - ‘a tractor with a passenger seat!” When the first Land Rover
was shown to the world at the Amsterdam Motor Siiow in 1948, it was an instant success. It was
perfect for farmers and building companies because it could go to places where no other car could go.
Because of the Land Rover, the Rover Company became stronger and started producing luxury cars
again. They listened to their customers’ ideas, and made changes to the design in 1958, 1972 and
1983. It became more comfortable and safer, but could still take you over fields, up mountains, into
rivers and across deserts.

56. The Wilks brothers needed a car like a Jeep ......... .
a) because it was more comfortable

b) to travel around their farm

c) to make a little money for a few years

d) for the Amsterdam Motor Show

57. According to the passage, the first Land Rover ..........
a) was made of a metal less expensive than steel

b) had a complex design like that of a plane

c) was both comfortable and cheap

d) could be used as a tractor on the farm

58. The 1983 Land Rovers were even better because they ......... .
a) could take you into rivers and across deserts

b) had became more comfortable and safer

¢) could go to places where no other car could

d) were perfact for farmere ond huilding companies
59. The underlined word “costly” in the 2™ paragraph is closest in meaning to ......... .
a) firm - b) expensive c) flexible d) reasonable

60. At what year was the first Land Rover produced?
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L: Read the following passage carefully and then answer the questions as required. (5 points)
Laurel and Hardy were a popular comedy team composed of thin, English-born Stan Laurel

and heavy, American-born Oliver Hardy. Laurel began his career as a comedian in English music
halls before he immigrated to America in 1912. Copying Charlie Chaplin, he made his first film
appearance in 1917. While working for Roach he met Hardy, nicknamed ‘Babe’ who had been a
cinema owner. Roach decided to put them together in their first two-reel film, ‘Putting Pants on
Philip’ (1927) directed by Leo McCarey, who went on to direct most of their early shorts. They made
a great number of popular shorts before their first long feature with director James Parrott, ‘Pardon
Us’ (1931). By 1936 the relationship between Laurel and Hardy was under pressure and both of them
were distanced from Roach. They set up their own production company, making a further eight films
up to 1945, They made one final film together in 1950, ‘Atoll K’ which was directed by Leo Joannon.
The film was not a success, and brought an end to Laurel and Hardy’s film careers.

Throughout their career the driving force was Laurel, who wrote the scripts and sometimes
produced, and always insisted on being paid twice as much as Hardy. Oliver Hardy died in 1957, but
Laurel did not attend his partner’s funeral, explaining his absence with the line “Babe would

understand.”

61. Before joining together, ......... .

a) Hardy was a famous producer

b) Laurel performed with Charlie Chaplin
¢) Hardy worked for Roach

d) Laurel had already acted in movies

62. Of the two comedians, the thin one ......... .
a) was from England

b) was younger

¢) was nicknamed ‘Babe’

d) lived shorter

63. The underlined word “career” in line 2 is closest in meaning to ......... .
a) company b) research ¢) concern d) job

64. Which sentence is NOT true about Laurel and Hardy?
a) Hardy was paid twice as much as Laurel.

b) They were paired up by Roach.

¢) They produced 9 films for their own compaﬁy.

d) Laurel was not present at Hardy’s funeral.

65. In which film did the two comedians act together for the last time?
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